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H 200 X 200 X 8 X 12 6600 1| 49.90| 329. 340 32955400
Rib PL 80 X 9 176 10| 70.65| 0.995 10|SM400A
Rib PL 285 X 9 176 4] 70.65| 2.303 9| Net 65 %
Flg PL 180 X 9 230 6| 70.65| 2.925 18] »
a1 Web PL 50 X 9 220 6| 70.65| 0.777 5|
% W= 371 kg
oM Xw= 742 kg
HTB M22 X 60 12 0. 525 6. 3|F8T 2-Wht
W= 6. 3|kg
2H|  Zw= 13|kg
H 200X 200 X 8 X 12 6600 1| 49.90| 329. 340 32955400
Rib PL 80 X 9 176 8| 70.65| 0.995 8|SM400A
Rib PL 285 X 9 176 8| 70.65| 2.303 18| Net 65 %
Flg PL 180 X 9 230 12|  70.65] 2.925 35|
" Web PL 50 X 9 220 12| 70.65| 0.777 9|1
;? W= 399 |kg
1K Xvw= 399 |kg
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15| Xw= 13/kg
PL 399 X 8 3295 2|  62.80| 82.563 165|SM400A
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g PL 104 X 8 134 10| 62.80] 0.753 8l Net 86 %
&l YW= 186/kg
H 2H| Zw= 372 kg
&
HTB M22 X 60 20 0.525 10. 5|F8T 2-Wht
W= 10. 5|kg
2%k SW= 21|kg
RN D25 415 2 3.98/ 1.652 3. 3|SD345
Fyb M24 2 0.11 0.2 17d&
X I M24 2 0. 081 0.2 3FH
- JiE & M24 2 0.035 0.1
W= 3. 8kg
6% SW= 22.8|kg
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ch. PL 1373 X 9 2198 1| 72.34| 218.312 218/CP400 e ERAR
Web PL 120 X 9 170 2|  70.65| 1.441 3|SM400A
Web PL 120 X 9 1957 2| 70.65| 16.591 33|
Flg PL 110 X 9 170 2| 70.65| 1.321 31w
Flg PL 110 X 9 1957 2|  70.65| 15.209 30| »
Web PL 120 X 9 1144 3] 70.65| 9.699 29|
Flg PL 100 X 9 962 3] 70.65| 6.797 20|
R End PL 140 X 9 1182 2| 70.65| 11.691 23]
HBE Flg PL 50 X 9 962 2| 70.65| 3.398 7\
L Rib PL 70 X 8 2170 2| 62.80| 9.539 19] »
0 Rib PL 120 X 8 382 2| 62.80| 2.648 51 Net 92 %
C Rib PL 70 X 8 1788 2| 62.80 7.86 16| »
K Fill PL 90 X 8 155 2| 62.80| 0.876 2185400
1 Fill PL 90 X 12 155 3] 94.20] 1.314 4l
Fill PL 90 X 16 155 4] 125.60] 1.752 700
SW= 419 kg
4| Bw= 1676 kg
HTB M22 X 105 4 0. 659 2.6|F8T 2-Wit
SW= 2. 6|kg
4| Bw= 10|kg
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Flg PL 110 X 9 2157 2| 70.65| 16.763 34| n
Web PL 120 X 9 1144 2| 70.65| 9.699 19| n
R Flg PL 100 X 9 962 2| 70.65| 6.797 14]»
o End PL 140 X 9 1182 2| 70.65| 11.691 23| 1
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2| Bw= 24 kg
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W= 1308 kg
SHRE E= 3006 |kg
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Yn= 1444
TUR=E Vb D25 X 415 127K
B GiR AV E
HDZ-T77
Hidx . HEH 3993 |kg
HDZ-T49
TUI=K W h
D25| %Y B3R 165 12 3.98/ 0.657 7.9kg
Fo b
M24 2. 4|kg
JRE 4>
M24 0. 6|kg
Si= 10.9]kg
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Sole PL 120 X 12 220 6| 94.20 2.487 15|
* Bed PL 120 X 12 220 6| 94.20 2.487 15 »
M7 HTB M22 X 45| 24 0. 481 12|F10T |7 & s
Anchor Bolt ®16 X 240 6 1.58)  0.379 2|S5400
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i _
i SW= 12 kg
il
ARIPRRR 240 X 60|  3000| 27.5 34. 56 950 kg
7 0.8 ton/m’
< AR 150 X 120/ 3300 4 47. 52 190 k
o | OrzsyE) ' ¢
filt ,
A=A [ ] A (%) 18. 2 4.95 90lk 125%] (3%
(HRE9mm: 487E) | (2.76 X 6.60) kg/m’ & Y TR
1926|kg
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71.8 71.8 75 75 9
615 6.5 68.5
==F= L = =
| o I ~~ L 7=}
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g ] 8 g 2 % 2 s
e s =
- L L SR ©
175
150
150
I H O = B B =
EAMT Rra& TR e [ 85T
YEVARY VAN -] 6.600 X 0.300 X 2 X 2 m 7.920
VA 6.600 X 0.150 X 1 X 2 m? 1. 980
6.600 X 0.072 X 4 X 2 m 3.802
PekR -0.420 X 0.150 X 1 X 4 m -0. 252
T (E A RIAA 0.270 X 0.150 X 2 X 8 m 0. 648
PERR| 1/2 X -0.035 X 0.075 X 2 X 8 m -0. 021
1/2 X -0.075 X 0.075 X 2 X 8 m -0. 045
-0.150 X 0.150 X 1 X 8 m? -0. 180
A F o 13. 852
ekt B i W
Vel 4750y & 0.990 X 0.150 X 1 X 4 m 0. 594
0.690 X 0.150 X 1 x 4 m? 0.414
VA 0.990 X 0.075 X 2 X 4 m? 0. 594
0.990 X 0.069 X 2 X 4 m? 0. 546
A FH o 2.148
A7 HEHT
13.852 + 2.148 m 16. 000
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TR SFOVESN L - BUS
0.300 X 6.600 X 2 m” 3. 960
L=1.0m H=0.3m ¥ 12
L=0.6m H=0.3m ¥ 2
24 L
7 & {877
Pril e85 1.800 X 1.250 X 2 fm? 4. 500
i r&
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